Year 5 Homework, Autumn Term Week 6

Maths: Speedy Six
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3427 + 5533 =

6332 -4332 =

76 x 8 =

Round 32.2 to the nearest
10.

5. Multiply 732 by 100.
What is 50% of 310? (Half
310)
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87543.5 + 76665.6 =
6554.9 - 5543.2 =

65 x76 =

Round 554.212 to the nearest

hundred.

Multiply 9.334 by 1000.
What is 25% 520 (Divide 520

by 4)
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Keep practising your times tables. This week we will be looking at the 9s. /

Reading Comprehension

Please complete the reading comprehension ‘Nine facts and nine planets. This is a short and
sharp reading comprehension. The reading part should be completed in 60 seconds and the
answers should take 1 -2 minutes each.
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Optional SPAG question (1 housepoint if completed)
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Spellings
Core Support
assist traffic word.
assistant picnic
assistance tunic Word
bore long comfort ¢
boring along
boredom last
hero fast peace
heroic best
heroism next child ‘
prejudice | believe

Match one of the words to the suffix ish. Write the new

Suffix

ish

able

ful

Homework is due in on 13* November.
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